==
A & 0l & AF 2 E A A
20218 & =04k LBHSIH St
2AMd: DS
M S SH0 HswsSHMHIATMA =2HE
S sns AFH 20|18t =4 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ws 21,564,426 20,240,077 1,324,349
= 61,500
s 3,209,000
J| 97,740
< 891,607
Al 17,304,579
SEXQ HESnSHMEIAXNA &8 11,869,285 12,502,053 A 632,768
= 61,500
s 350,000
J| 97,740
< 490,407
Al 10,869,638
thsuws 438 2dI|gt =4 11,830,949 12,460, 384 A 629,435
= 61,500
s 350,000
J| 97,740
< 490,407
Al 10,831,302
ANUHHA BXd 2243 X2 1,902,372 1,902,372 0
307 21201 A 1,902,372 1,902,372 0
09 2+=HAHEBEXS 1,902,372 1,902,372 0
OAlUH A BIld 24848 1,902,372
AMUWHHA &2 H 1,038,223 1,038,223 0
307 gl2tol & 1,038,223 1,038,223 0
09 2HAHAEXS 1,038,223 1,038,223 0
OAILHH A 1,0008 SHLRSH Ea243 1,038,223
AMUHA BXELGLEE ISE SAEY 50,000 50,000 0
207 A O] 50,000 50,000 0
01 289 50,000 50,000 0
OAlUHA X - Hl=Add DSEXA &9 30,000
OAILHH A 1,0008 SHLRSH &4W AFH
g9 20,000
AMUWHA X AS 330,700 480,800 A 150,100
307 21201 A 8,400 8,400 0
02 IAHFAAHEX 8,400 8,400 0
OAUHA X CHLY LED M B S &2
700,000 1200 & 8,400
402 RIZEX20l ™ 322,300 472,400 A 150,100
01 RIZt Xt 2 AL E = (REATH &) 322,300 472,400 A 150,100
OAILHB A XX AIE2EE HE ALY
110,000, 000& *50% 55,000
OAUH A 22 CIARl SAALS
2,300,000 »5CH 11,500




EA: WEI
B 52N HERSHUAIN =
e Hsns AEE 2HI|8 X4 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OAUHA = HEIX XI& Al
50,000,000 =4CH 200,000
OAMUWHA FH LED & A X CHLHE A X
1,268, 180 x44CH 55,800
HESIHA 29 J(EX) 500,000 720,000 A 220,000
= 250,000
= 50,000
Al 200,000
307 2Iz2to| A 500,000 720,000 A 220,000
= 250,000
= 50,000
Al 200,000
02 DIZHEAAIE E X 500,000 720,000 A 220,000
O#EZ2 HA 29 500,000
= 250,000
= 50,000
Al 200,000
gEzuA 29 NR(2X) 381,060 0 381,060
g 100,000
Al 281,060
307 giztol & 381,060 0 381,060
Fag 100,000
Al 281,060
09 2LHHEXZ 381,060 0 381,060
OH=ZEHA 29 31,755,000 =12CH 381,060
g 100,000
Al 281,060
AENSIIHE XSAS 6,000 8,404 A2, 404
= 3,000
Al 3,000
308 XtXI S+ & S0 & 6,000 8,404 A2,404
= 3,000
Al 3,000
11 BI2SUHUEEAEE AN Y] 6,000 8,404 N2,404
OLSsWEIIE XNEAY 6,000
= 3,000
Al 3,000
249 MHEXNE NS(EX) 1,924,401 1,779,729 144,672
= 315,618
Al 1,608,783
307 2iz2tol A 1,924,401 1,779,729 144,672
= 315,618
Al 1,608,783
09 2LHAHEXZ2 1,924,401 1,779,729 144,672
O249H MEXNES(HLdLH) 1,924,401
= 315,618




2N DED
M S SH0 HswsSHMHIATMA =2HE
S sns AFH 20|18t =4 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
| A 7,608,783
2=8H MEXNE X= 60,000 120,000 A 60,000
307 gl2tol & 60,000 120,000 A 60,000
09 2HAHEXES 60,000 120,000 A 60,000
OeEBE AMAHA Hl=Add MEBXA 60,000
HEnsEs2d 841 ¢ E2FH(EX) 24,030 54,000 29,970
= 7,209
Al 16,821
401 Al& Bl & 28I 24,030 54,000 A 29,970
= 7,209
Al 16,821
01 A& HI 24,030 54,000 229,970
OHASZE HHLZEZFAE &X 24,030
< 7,209
Al 16,821
=snss2dd 4x1 € 23| 934,938 1,102,430 A 167,492
201 2yt 2 Y| 267,938 300,430 ~32,492
01 At 22l 195,410 206,510 A 11,100
Ousg:e =& AIR2eldl 26,000
OHYAl &8 AMEEE 40,0002 *335CH = 1204 & 160,800
OfIds &4 1,610
Al 2R Ao A3 70,0003 +7H »23] 980
HA THE dods 70,0003 x9H x 13| 630
OXNEEE MAFY 7,000
02 =224l 72,528 93,920 A 21,392
OuUSYEFL RBR=S 30,000
Os2& 2EAX HIIRS
10,000& «60CH 122 7,200
OH=SEAl S4&lHl 37,0003 =122 H 1204 & 5,328
OAUH A s2& 24 2 i
500, 000& *60H 2 30,000
401 Al& Bl 28I 667,000 802,000 A 135,000
01 Al&Hl 667,000 802,000 135,000
ONUBA 5228 DM L AR
12,000, OOO% *500H 2~ 600,000
OHZ = tiHHe WM S =2l 5,000
OALUWHA HX HEAIF= X 2 =2l 10,000
OAlLIH A 52 & X HEAI, AR
K 10,000
OAUHA s2& &3 FH] 10,000
OAMUHA S2E HHE 800,000 1570 £ 12,000
OHAlI&sZ2Z B3l 20,000
BHAISZE &1 10,000,000& *1JH £ 10,000
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EA: WEI
MM SE2HO HZWSAMUHAHHA &S
e Hsns AEE 2HI|8 X4 ct
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
BAS2E RS 10,000
HAZ™BAIA(BIS) RS & 29 142,156 126,866 15,290
201 LBt Y| 62,156 46,866 15,290
02 Z2=2=294| 62,156 46,866 15,290
OFELEEI(HA), St Sdlg - &II2
(E2R) 40,000& «43CH =12 20,640
OHASHEHEEA AL ZetREHYH 29|
30,000& =430 12& 15,480
OHA2dAEE LI (HA) SR 22
30,000& 4301 12& 15,480
OHASSMAEE CHYII(SZE) S22
364 ,000& *29CH 10,556
401 AlEHIZL £ 0HY| 80,000 80,000 0
01 Al&H| 80,000 80,000 0
OHASHESD A AL OHLHDI(BIT) & Xl
8,000,000 =10CH 80,000
EBEASESHNE 22370 OHAHEY XAY(HEH 37,500 60,000 A 22,500
& 11,617
Al 25,883
401 AlEHIZL £ 0HY| 37,500 60,000 A 22,500
= 11,617
Al 25,883
01 Al&H| 37,500 60,000 A 22,500
Osdd 2Z X &X 2,500,000 1504 37,500
= 11,617
Al 25,883
2EHOIE A& 6,000 6,000 0
206 M = dl 6,000 6,000 0
01 X2 H| 6,000 6,000 0
OHOlg gt&4a HoggE 7Y 6,000
EHAI K& AFE 32,275 28,500 3,775
307 212t0| & 28,500 28,500
02 DIZHB AAIE E X 28,500 28,500
ORYH NS s SetaiAb XA&
15,000, 000& = 1Al 15,000
ORYHMAE WS&EH X 10,000
ONESHY nsEotd HH e & X 3,500
308 AMXISHMSOIA 3,775 0 3,775
11 B 2SHUSEANE AIS Y| 3,775 0 3,775
QEAI2HE B2 AIAE(TIMS) 2 X
3,775,000 1Al 3,775
EHAIZ XX & 285,000 340,000 A 55,000
= 58,500
_ 4 —_




2AMd: DS
B 52N HERSHUAIN =
S sns AFH 20|18t =4 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 226,500
307 glz2tol & 285,000 340,000 A 55,000
= 58,500
Al 226,500
09 2HAHAEXS 285,000 340,000 A 55,000
OH"YAl 2XE4 XA 19,000,000 *15CH 285,000
= 58,500
Al 226,500
WEAL SEuESH 2F(EX) 400,000 400,000 0
J| 97,740
Al 302,260
307 21201 A 400,000 400,000 0
J| 97,740
Al 302,260
05 RIZt2IEt = 400,000 400,000 0
OEgus+H 288 29 N& 400,000
J| 97,740
Al 302,260
DE2ET wSAHD g X& 20,000 20,000 0
< 6,000
Al 14,000
301 LEd = 20,000 20,000 0
< 6,000
Al 14,000
12 JIEBHE4 = 20,000 20,000 0
ONgE2dL 2y Xtaegty X&
200,000& x100H 20,000
< 6,000
Al 14,000
2gM SHEES N 3,531,000 3,531,000 0
307 21201 A 3,531,000 3,531,000 0
09 2HAHAEXS 3,531,000 3,531,000 0
OMHEXE RIUHEEXZS X
294,250,000+ 122 3,531,000
SAHHA SHINESEX FE X A 20,580 0 20,580
< 6,174
Al 14,406
307 21201 A 20,580 0 20,580
< 6,174
Al 14,406
09 2+=HAHEBXS 20,580 0 20,580
OFAHA SAIEEX I ALY
210,000 »98LH 20,580
< 6,174
Al 14,406




EA: WEI
MM SE2HO HZWSAMUHAHHA &S
Sl DS XFF 20| X4 CERED
- - _ L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
SSEIAl 29 91,800 0 91,800
== 61,200
Al 30,600
307 2Iz2t0| A 91,800 0 91,800
o= 61,200
Al 30,600
02 QIZHEAAIRE E X 91,800 0 91,800
OsEXNY ZNSsSM SstehAl K& 91,800
& 61,200
Al 30,600
BIAIRZ2 ItELLEE X 88,560 0 88,560
= 25,560
Al 63,000
307 giztol & 88,560 0 88,560
= 25,560
Al 63,000
02 AI2tAAMAIE E =X 88,560 0 88,560
O8AIRZ IIELEE XN& 88,560
= 25,560
Al 63,000
BAIRZ IIEESANZE X 24,354 0 24,354
o= 7,029
Al 17,325
307 Q12t0| & 24,354 0 24,354
=} 7,029
Al 17,325
02 DIZHBAAIE E X 24,354 0 24,354
OEANRZ2 ItESHNE XN 24,354
& 7,029
Al 17,325
SIEEXDXN 29 15,836 18,669 N 2,833
St Z2Y XX HUIAY 15,836 18,669 N2,833
101 124 H| 3,336 4,169 A 833
04 JI2ZtHIZ22NEES 3,336 4,169 A 833
Os229 MDA ox ogd
138,980 *4H 3 %23 3,336
201 et d| 8,000 11,000 A 3,000
02 =224 H| 8,000 11,000 A 3,000
OII=S2Z2EXNLXN 2222 8,000
206 M = Hl 1,500 500 1,000
01 X2 H| 1,500 500 1,000
Osz229 120K M= 22X 2 (8=F, o
x01) 500
O22LE 19 g E Q] 1,000
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22X nE
HM: orA™

¢}
S WSA

24 23 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=2Yg =Fxt &t DFA CCTV Al
30,000,000 =34 2 90,000
03 Al 2 THHI 10,350 10,665 A315
OusdsI & FES |2
500,000,000& *0.63% 3,150
OuszEXg a4 & FHi
250,000,000& *0.72% 1,800
OX&E M AX 2 HHl 750,000,000 *0.72% 5,400
ns oHE Aldg222(BX) 290,000 107,500 182,500
< 85,000
Al 205,000
401 A& HIZ 201 8] 290,000 107,500 182,500
< 85,000
Al 205,000
01 A& HI 290,000 107,500 182,500
O8HELX Of2t EZJ1 EXIXNE AL
5,000,000 *100H 2 50,000
< 15,000
Al 35,000
OuUSHEAIE JHE A 240,000
< 70,000
Al 170,000
Ot==02 B39 LA 440,000 500,000 A 60,000
< 132,000
Al 308,000
401 AIEHI L 2CHEI 440,000 500,000 A 60,000
= 132,000
Al 308,000
01 A& Hl 440,000 500,000 A 60,000
Olts=0 25379 =4&AMY 440,000
< 132,000
Al 308,000
NHEAAE 22 220,000 320,000 A 100,000
401 Al HIZ 201 Y] 220,000 320,000 A 100,000
01 A& HI 218,560 317,840 A 99,280
OXENEZ FHIAE(RXES)
200,000,000& *99.28% 198,560
ONENEZ ANE2 FANESAY 20,000
03 A& =2 THHI 1,440 2,160 AT20
ONEANEZ FH ALY 200,000,000& *0.72% 1,440
NEANEE 50,000 50,000 0
307 gl2tol & 50,000 0 50,000
06 283 50,000 0 50,000




EA: WEI
MM OFEID BRlE MF REBE 7S
Sl DEAL 29 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OYRAIL Ua JEH B8 1Y
50,000,000 = 14! 50,000
MEA OHEZ AlEIHA ALY 66,700 0 66,700
== 20,000
Al 46,700
401 AlEHIZ 201 Y| 66,700 0 66,700
o= 20,000
Al 46,700
01 Al&H| 66,700 0 66,700
OMEA O|HE 2 AIZIMAALY 66,700
= 20,000
Al 46,700
Helo] wEotd 1,802,200 520,000 1,282,200
Fag 809,000
& 164,200
Al 829,000
Helol B39 MEAY 450,000 500,000 A 50,000
Fag 225,000
Al 225,000
401 AlEHIZL £ 0HY| 450,000 500,000 A 50,000
Fag 225,000
Al 225,000
01 Al&H| 450,000 500,000 A 50,000
ONEol B39 HEAY 450,000
g 225,000
Al 225,000
B39 22 20,000 20,000 0
401 Al HI L 2 0HHI 20,000 20,000 0
01 Al& H| 19,784 19,784 0
ONelol Es3E AIE2 |KANES
20,000,000 x98.92% 19,784
03 Al 24| 216 216 0
ONelol Es3E AIE2 |FANES
20,000,000 *1.08% 216
HelolESs3Y S4E910ct & EXALY 1,332,200 0 1,332,200
Fag 584,000
= 164,200
Al 584,000
401 Al HI L £ 0HHI 1,332,200 0 1,332,200
g 584,000
&< 164,200
Al 584,000
01 Al& H| 1,332,200 0 1,332,200
ORDNEHLEIINCCSE AXALE 1,332,200
Fag 584,000




2AMd: DS
MM OFEID BRlE MF REBE 7S
el 0j210] DEOHH CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 164,200
Al 584,000
SHE =28 =24 4,701,779 4,101,685 600,094
s 2,050,000
Al 2,651,779
SYFENE ZEMY(EX) 4,100,000 3,800,000 300,000
s 2,050,000
Al 2,050,000
401 Al HI X 2018 4,100,000 3,800,000 300,000
s 2,050,000
Al 2,050,000
01 A& HI 4,085,240 3,786,320 298,920
O3g=xE =4 4,100,000,000& *99.64% 4,085,240
s 2,050,000
Al 2,035,240
03 A& =TI 14,760 13,680 1,080
OZ2g=xd =4 4,100,000,000& *0.36% 14,760
SEFXE FHIAY 601,779 301,685 300,094
101 @124l 6,279 6,185 94
04 JIZHHNZ22XNSE =+ 6,279 6,185 94
OS2E ZE=ANE s&4 SNz ALY
8, 7203 x1H +2A1 2++302 1200 & 6,279
201 Let2d] 15,500 15,500 0
01 At 2teltl 12,000 12,000 0
O=23 SZF:XE st&E4 22z 7L 8,000
OddY BE=XE LUZE 4,000,000 x14) 4,000
02 =224l 3,500 3,500 0
O 82 IZ=XE B223(4 o=,
&01) 3,500
401 AIEHI L 2CHYI 580,000 280,000 300,000
01 A& HI 579,136 279,136 300,000
OZEF=XE ZFHlAY 80,000,000& *98.92% 79,136
O&tl Bt X+ =XE EX0HY 500,000
03 A& =2 THHI 864 864 0
OZEF=XE ZFHlAY 80,000,000& =1.08% 864
SUSE WSt IR 59,062 55,139 3,923
BLR2 wsSotd 59,062 55,139 3,923
OEolns3d 2g2al 59,062 55,139 3,923
101 14l 1,668 825 843
04 JI12ZtHZ22EaE = 1,668 825 843
O0glolnssd 0= A2
138,980 & x22 x2H x33] 1,668
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